MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

CHALLENGE

Name:

Time: Score:

511 —(0.001 x 490 =
52 0.001 x (—3.9) =
59 0.011 x (—2.25) =
1) —0.6 X 374 =

5 —10 x 4.79 =

6 (0 X (—5.9) =

547 0.0005 X 284 =
8 3 X 3.05 =

59 0.8 x (—4.69) =
50 —8 X (—237) =
w0 0.1 % (—162) =
552) (0.6 X 0.32 =

53 (0 x (—3.48) =

) —0.0009 x (—405) =

555)  —(.005 x 446 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 1
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—0.011 x (—0.77) =
—0.1 x (—=0.0474) =
—0.06 x (—12.5) =
5 x 0.09 =

—1 x (=3.15) =
0.004 x 0.018 =

—6 x (—2.02) =

—8 X 27.7 =

—0.4 x 0.315 =
0.0001 x 258 =
0x11.5 =

—0.0005 x 8.2 =
9x (—34) =

0.006 x 9.1 =

—7 X (—17.2) =
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